Transfers Report

This report contains the transfers results.

Contest Name	Ward 3 - Dalkeith
Valid Votes	4,198
Positions to be Filled	3
Quota	1,050

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Jim BRYANT	Independent		248
Colin John CASSIDY	Scottish National Party (SNP)		1,142
Stephen CURRAN	Scottish Labour Party		976
Margot RUSSELL	Scottish Labour Party		800
JIII SIMON	Scottish Green Party		168
Robin TRAQUAIR	Scottish Conservative and Unionist		706
Gary YOUNG	Scottish National Party (SNP)		158
		Total	4,198

Candidate Colin John CASSIDY Elected with 1,142 votes, being in excess of the quota of 1,050

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Colin John CASSIDY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BRYANT	23	0.08056	1.85288
Transfer to Colin John CASSIDY	0	0.00000	0.00000
Transfer to Stephen CURRAN	58	0.08056	4.67248
Transfer to Margot RUSSELL	52	0.08056	4.18912
Transfer to Jill SIMON	48	0.08056	3.86688
Transfer to Robin TRAQUAIR	16	0.08056	1.28896
Transfer to Gary YOUNG	882	0.08056	71.05392
Value of non-transferable ballot papers			5.07576
	Total		92.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Jill SIMON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BRYANT	3	0.08056	0.24168
Transfer to Jim BRYANT	25	1.00000	25.00000
Transfer to Colin John CASSIDY	0	0.00000	0.00000
Transfer to Stephen CURRAN	20	1.00000	20.00000
Transfer to Stephen CURRAN	3	0.08056	0.24168
Transfer to Margot RUSSELL	2	0.08056	0.16112
Transfer to Margot RUSSELL	36	1.00000	36.00000
Transfer to Robin TRAQUAIR	9	1.00000	9.00000
Transfer to Gary YOUNG	50	1.00000	50.00000
Transfer to Gary YOUNG	37	0.08056	2.98072
Value of non-transferable ballot papers			28.24168

Total

171.86688

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Jim BRYANT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin John CASSIDY	0	0.00000	0.00000
Transfer to Stephen CURRAN	8	0.08056	0.64448
Transfer to Stephen CURRAN	50	1.00000	50.00000
Transfer to Margot RUSSELL	44	1.00000	44.00000
Transfer to Margot RUSSELL	4	0.08056	0.32224
Transfer to Jill SIMON	0	0.00000	0.00000
Transfer to Robin TRAQUAIR	1	0.08056	0.08056
Transfer to Robin TRAQUAIR	63	1.00000	63.00000
Transfer to Gary YOUNG	48	1.00000	48.00000
Transfer to Gary YOUNG	5	0.08056	0.40280
Value of non-transferable ballot papers			68.64448

Total

275.09456

Transfers Report

This report contains the transfers results.

Stage 5 - Surplus of Stephen CURRAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BRYANT	0	0.00000	0.00000
Transfer to Colin John CASSIDY	0	0.00000	0.00000
Transfer to Stephen CURRAN	0	0.00000	0.00000
Transfer to Margot RUSSELL	36	0.00011	0.00396
Transfer to Margot RUSSELL	837	0.00148	1.23876
Transfer to Jill SIMON	0	0.00000	0.00000
Transfer to Robin TRAQUAIR	30	0.00148	0.04440
Transfer to Robin TRAQUAIR	4	0.00011	0.00044
Transfer to Gary YOUNG	15	0.00011	0.00165
Transfer to Gary YOUNG	28	0.00148	0.04144
Value of non-transferable ballot papers			0.22799

Total

1.55864

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Gary YOUNG

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BRYANT	0	0.00000	0.00000
Transfer to Colin John CASSIDY	0	0.00000	0.00000
Transfer to Stephen CURRAN	0	0.00000	0.00000
Transfer to Margot RUSSELL	84	1.00000	84.00000
Transfer to Margot RUSSELL	7	0.00011	0.00077
Transfer to Margot RUSSELL	11	0.00148	0.01628
Transfer to Margot RUSSELL	292	0.08056	23.52352
Transfer to Jill SIMON	0	0.00000	0.00000
Transfer to Robin TRAQUAIR	9	1.00000	9.00000
Transfer to Robin TRAQUAIR	42	0.08056	3.38352
Transfer to Robin TRAQUAIR	4	0.00148	0.00592
Value of non-transferable ballot papers			210.55052

Total

330.48053

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Robin TRAQUAIR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BRYANT	0	0.00000	0.00000
Transfer to Colin John CASSIDY	0	0.00000	0.00000
Transfer to Stephen CURRAN	0	0.00000	0.00000
Transfer to Margot RUSSELL	17	0.00148	0.02516
Transfer to Margot RUSSELL	25	0.08056	2.01400
Transfer to Margot RUSSELL	322	1.00000	322.00000
Transfer to Jill SIMON	0	0.00000	0.00000
Transfer to Gary YOUNG	0	0.00000	0.00000
Value of non-transferable ballot papers			467.76464
	Total		791.80380